o AR5

=
K

o4 a7t b she?

@ -2x>-4

@ x>2x+2



AREA 3x—a>5x 9 b x<6 D W, a o G2

@® -5 @ -12 ® 0 @ 3 ® 5



3.

x7F-1,0,1,2,34 ©, o5 25

Al
Al

%01]/\'1 6‘H7}ﬁ 7/—1%7
@D 3-x<0

@ x+1<2x+3
@ 3x<2x_1

@ 2x—2<x-1
® 4x>3(x-2)



4. a<b A, oz T FS A7

D a+1>b+1 @ a-1>b-1
® -a+1>-b+1 @ 2a-1>2b-1

® —g—1<—g—1



Sk A% x ol A5k 2 AL W, 4% a

® 4 @ 5 ® 6



=

oo

Sop Abolo] PAE HEA O R e A F $2

Y

29

@ x 2 58] 2 & Het = x oA 4 S wl = B 32
= bx+2>x—-4

@ gt Rl a F Ab 7 ARt g el b A1 H 8 ZHE AtTY
71 790] 10000 ¥ 2] Ut = 7a+ 8b > 10000

@ 100 A=) AP x 7H9E 200 9] A 2 719 7HA2 1000 ¢
o]Afolth. = 100x + 400 < 1000

@ FA7L 3kg 1 U AFAoll g Foll 6kg 1 4 x B HOH
AA FAZF40kg= A F=Th = 3+6x>40

® 3t 7ol 300 €1 B x 7Het ?F Hell 600 ¥ A 47N E S
o, 1 592 3000 Y E T 22| ¢Frk = 300x + 2400 > 3000



x7F Aol A, BSA 44 8x < a+ 5x 2] S19] A7 54D o,

4% a ) gl AgEe Tatelet.

D R
=%



® 2-3x>-7

@ x-3>0

® 2(x+1)=>8

x+4<25

1

2

®



sholat,

:’7_



10. BESA 2x+11>ax+50 x—4<3x+4 97t 22w, 0 & G
atolat,

Be



